For each table, make a scatter plot of the data. Describe the type of correlation the scatter plot shows.  (Be sure to use graph paper and draw a trend line.)

1.
	Name
	Hours

Worked
	Amount

Earned

	Jan
	6
	64

	Ross
	12
	38

	Vic
	11
	43

	Al
	9
	51

	John
	15
	25

	Jen
	10
	47
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Use the table below and a graphing calculator for Exercises 3 through 6.
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3. Make a scatter plot of the data pairs (years since 1980, population).
4. Draw the trend line for the data.
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Use the table below and a graphing calculator for Exercises 7 through 10.
7. Make a scatter plot of the data pairs (years since 1999, revenue).
8. Draw the line of best fit for the data.
9. Write an equation for the line of best fit.
10.
According to the data, what will the estimated gross
revenue be in 2015?
In each situation, tell whether a correlation is likely. If it is, describe the type of correlation and tell whether the correlation reflects a causal relationship. Explain your reasoning.
11. the number of practice free throws you take and the number of free throws you make in a game
12. the height of a mountain and the average elevation of the state it is in
13. the number of hours worked and an employee’s wages
14. a drop in the price of a barrel of oil and the amount of gasoline sold
15. Open-Ended Describe a real world situation that would show a strong negative correlation. Explain your reasoning.
16. Writing Describe the difference between interpolation and extrapolation. Explain how both could be useful.
17. Writing Describe how the slope of a line relates to a trend line. What does the y-intercept represent?
45.
What is the line of symmetry for the quadratic function f(x) = (x + 7)2 – 10? 

A.
x = 7
B.
x = 10

C.
x = –7

D.
x = –10

46.
The distance a speedboat has traveled is given by the function d(t) = 10t2, where d 
represents distance in meters and t represents time in seconds. What is the average rate of change in the distance the speedboat has traveled from 1 second to 10 seconds?
 

A. 90 m/s
B. 92 m/s
C. 110 m/s
D. 112 m/s

47.
What is the average rate of change of the function f(x) = 2x2 – 3x – 4 for -3 ≤ x ≤ -1?
48.
Graph the function f(x) = -½x2 + 2x + 6 on the coordinate plane.
49.
Graph the function 
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on the coordinate plane.
50.
The function f(x) = ⅔x + 4 is given.
Graph f(x).
51.
A teacher tells his students, “I have noticed that if you sit in the back of the classroom, you have a higher chance of falling asleep.” Which statement is true?

A.
Sitting in the back of the room causes students to fall asleep. 

B.
Sitting in the front of the room causes students to stay awake. 

C.
There is a correlation between where a student sits and if the student stays awake or falls asleep.
D.
There is no correlation between where a student sits and if the student stays awake or falls asleep.

52.
A scatter plot is shown. A student added the line, thinking it was a line of best fit for the data.
[image: image3.jpg]



Which correlation coefficient most accurately describes the data’s fit to a linear model?

A. -0.9
B. -0.5
C. 0.5
D. 0.9

60.
The population of a town can be modeled by the function P(t) = 20,696(0.9974)t, where t is the number of years that have passed since the year 2000.

Which statement is true about the population of the town for each year since 2000? 

A. It has been decreasing by 0.26% each year.
B.  It has been decreasing by 0.0026% each year.
C.  It has been increasing by 0.9974% each year.
D.  It has been increasing by 99.74% each year.

61.
Jessica purchased a trash compactor for $849.00. The value of the compactor can be modeled by the function V(t) = 849(0.9)t, where t represents the number of years that have passed since Jessica made her purchase.

Based on the function, what happens to the value of the trash compactor?
A. The value of the compactor increases by a rate of 90%.
B. The value of the compactor increases by a rate of 10%.
C. The value of the compactor decreases by a rate of 90%.

D. The value of the compactor decreases by a rate of 10%.

62.
Consider the functions f(x), g(x) and h(x).
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Order them from greatest to least based on the value of the function as 
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63.
Anita deposits $545 into a savings account. The account has an interest rate of 3% compounded quarterly.
Give a function to represent the amount of money in dollars, A(t), in Anita’s account after t years.
64.
The population of Huntsville in 2010 was 87,000. The population grows by 3% each year.

Which type of function can represent the population of Huntsville t years after 2010?

A. Cubic
B. Exponential
C. Linear
D. Quadratic
65.
Every year, Caleb’s grandmother gives him $50 for his birthday.

What type of function can be used to represent the total amount of money Caleb has received for his birthdays?
A. Cubic

B. Exponential
C. Linear
D. Quadratic
